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CBT Practice model answers

Basic Costing (BCCG)

Practice 3
Section 1

Task 1.1
[image: image2.png]Indicate the characteristics for each system by putting a tick in the relevant column of the table below.

[This system has many users outside the business

[This system uses techniques to calculate the unit
[cost of a firn's production

[This system complies with company law and
Jaccounting rules

[This system uses techniques that will elp the
Imanagers of a business to plan for the future





Task 1.2
[image: image3.png]Classify the following costs itincurred by element (material, labour or overhead) by putting a tick in the.
relevant column of the table below.

[Heating and lighting of the shop.

|Wages of sales staffpaid hourly

[Clotnes boughtin to sellin the
lshop

|sponsorship of a fashion show





Task 1.3
[image: image4.png]Classify the following costs incurred by nature (direct or indirect) by putting a tick in the relevant column
of the table below.

[Wages of bus drivers

|Rent of e bus garage

[Fuel used by the buses

|satary of the bus company manager





Task 1.4
[image: image5.png]Classify the following costs incurred by function (production, administration, selling and distribution or
finance) by putting a tick in the relevant column of the table below.

|Rubber usedto make the tyres

|salaries of sales staff

|Bank charges

[Aavertisement in motoring
[magazine





Task 1.5
[image: image6.png]Classify the following costs incurred by their behaviour (fixed, variable or semi-variable) by putting a tick
in the relevant column of the table below.

[Meals for residents

|salary of care home manager

|Annual buildings insurance for the
|care home

(SIS

[Efectricity costs which include a
[standing charge and 3 cost per
lunit of electriciy used





Task 1.6

[image: image7.png]‘You are required to code the revenue and expense transactions shown in the transaction column of the
table below using the code column for your answer.

Profit

Jaaministration office

loverseas sales 075

[Production lss0 IDirect cost 100 550100
Imdirect cost 150 100075

|Aaministration lss0 IDirect cost l200 s machinen| 5507150
Imdirect cost l2s0 Isales o gristol, UK [ 1001025

[Seling ana [sataries paiato

[ooing and [7s0 IDirect cost l200 it 750350
(Indirect cost 350 [Electrici costs of 6501250





Task 1.7

[image: image8.png]You are required to classify the transactions listed in the transaction column of the table below using the code column for
your answer. The first code has been done for you.

[Material I |pirect Cost [1000 |cans for arinks lat000

[Rates offactory paid to
line 1ocal authorty

[sweetener used in drink

IIndirect Cost l2000 c2000

|Labour B IDirect Cost 1000 racacion A1000
[Wages of production
Indirect Cost l2000 oges 81000
[overheads |c [Direct Cost 1000 [Salan of production B2000
Imanager
[Indirect Cost 2000 [Materials usedo clean A2000

[production machinery





Task 1.8
[image: image9.png]Identify the type of cost behaviour (fixed, variable or semi-variable) described by each statement below by
putting a tick in the relevant column of the table below.

Statement

Variable

|At 1500 units costs are £4000 including a fired
lelement of £1000, and at 2500 units costs are £6000

[Costs are 24 per unit at 500 units and £1 per unit at
12000 units

[Costs for 750 units are £2250 and costs for 1200 units|
Jare £3600





Task 1.9
[image: image10.png]Classify the following costs as either fixed o variable by putting a tick in the relevant column of the table below.

[Wages of employees paid on a piecework basis

|salary of production manager

[Materials used in production

lInsurance of office equipment





Task 1.10
[image: image11.png]Complete the table below, showing fixed costs, variable costs, total costs and unit cost for the different
levels of production. You are told that fixed costs are £48,000 and that variable costs are £11 per unit.

2000 48,000 22,000 70,000 £S5

3,000 48,000 33,000 81,000 27

4,000 48,000 44,000 92,000 2





Task 1.11
[image: image12.png]Complete the following total cost and unit cost table for a production level of 8,000 units.

[Material 520,000 3
|Labour 362,000 4
|overheads 600,000 75

[Total 1,472,000 184





Task 1.12
[image: image13.png]Complete the table below to show the unit cost at a production level of 18,000 units.

IMaterials 6
|Labour 5
|overheads °

[Total 20





Section 2


Task 2.1

[image: image14.png]Opening inventory of raw materials £5,000

Purchase of raw materials 30,000
Closing inventory of raw materials 27,500
DIRECT HATERIALS USED 27500
Directlabour 18,000
PRINE COST 245500
Wanufacuring overheads 42,000
WANUFACTURING GOST 267500
Opening iventory afwork n progress 28000
Glosing inventory f work n progress 26000
COST OF GOODS HANUFAGTURED 289,500
Opening invertory o fnished goods 213500
Glosing inventoryoffinished goods 11,000

COST OF GOODS SOLD 292,000





Task 2.2
[image: image15.png]You are told the opening inventory of a single raw material in the stores is 900 units at £6 per unit. During
the month, a receipt of 300 units at £8 per unitis received and the following week 250 units are issued.
Identify the valuation method described in the statements below.

[The issue of 250 units is costed at
l£1.625

[The closing inventory is valued at
les 175

SIS

[The issue of 250 units is costed at
le1.500





Task 2.3
[image: image16.png]Identify whether the statements in the table below are true or false by putting a tick
in the relevant column.

|AVCO costs the issue of 1,500 units at£5,950

|AvCO values the closing inventory at£2,050

|LIFO values the closing inventory at £1.750

[FIFO values the closing inventory at £2,250

[SIISfIS]

[FIFO costs the issue of 1,500 units t£6,150

|LIFO costs the issue of 1,500 units t£6,450





Task 2.4
[image: image17.png]Complete the table below for the issue and closing inventory values.

IFFo 2000 1600

|uFo 2050 1550

laveo 2000 1600





Task 2.5
[image: image18.png]Identify the following statements as true o false by putting a tick in the relevant column of the table
below.

Tru

[Indirect1abour costs can be identified with the product
Jor senvice proguced

[Direct labour costs always vary directly with changes
linthe level of output of the product or senice produced|





Task 2.6
[image: image19.png]Identify the following statements as being true or false by putting a tick in the relevant column of the table
below.

[The employee produces 272 units in 35 hours of work
|and receives total pay of £533.

[The employee produces 250 units in 30 hours of work
land receives a bonus of £10.

[The employee produces 260 units in 32 hours of
[work and receives total pay of £484.

SIS





Task 2.7
[image: image20.png]Identify the labour payment method described in the following Statements by putting a tick in the relevant
column of the table below.

/an employes is paid £350 for
working 35 hours at £10 per hour

/an employee is paid £500 for
lproducing 200 units at£2.50
lper unit

[an employes is paid £400 for
working 38 hours at £10 per hour
land £20 for producing more than
lplanned





Task 2.8
[image: image21.png]Calculate the basic wage, overtime and gross wage for the week for the two employees in the table below.
Note: f no overtime is paid you should enter 0 as the overtime for that employee.

1. Haskins. 38 hours. 450 £ 485

IT.Dirta la2 nours 450 105 555





Task 2.9
[image: image22.png]Calculate the gross wage for the week for the two employees in the table below.

|6 Giordani 300 s

|A Mensan 420 483






Task 2.10
[image: image23.png]Calculate the basic wage, bonus and gross wage for the week for the three workers in the table below.
Note: if no bonus is paid you should enter 0 as the bonus for that worker in the table.

I Hart I23 nours. 1150 units 330 365)
[T stein 130 hours. [110 units 300 300)
|6 Mann I35 hours. 1150 units 350 370)





Task 2.11
[image: image24.png]Identify whether the following statements are true or false by putting a tick in the relevant column of the
table below.

\When actual costs are greater than budgeted costs
tne variance is favourable

[an adverse variance means actual costs are less.
than budgsted costs

SIS





Task 2.12

[image: image25.png](Calculate the amount of the variance for each cost type and then determine whether it is adverse or
favourable by putting a tick in the relevant column of the table below.

Iiectmateriis om0 20 10
Ipiectiasour a0 a2m0] s
Poducionovereass | 16750]  teeso] 200
[raminitaton 2os| 75| 2w
Sl anaditionion] g3 z00] 1373 aes





Task 2.13
[image: image26.png]Examine the adverse (A) and favourable (F) variances in the table below and calculate the actual cost,
indicating whether each variance is significant or not significant by putting a tick in the relevant column of
the table below.

IDirect materials 68350 2400(| 70750
IDirect labour 49720 15008 51260
[Production overneads a0l 15200 35990
[pomnitiation 16330 850(F)| 15880
et naasoton o35 w0 mem





Task 2.14

[image: image27.png]Identify, for the following significant cost variances, one relevant manager to whom the performance
report should be sent.

|Direct materials [Purchasing Manager v

— -





OR

[image: image28.png]IDirect materials.

Production Manager

[Finance overheads

Finance Wanager
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